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Let p € [a,b] be the root of f € C'([a,b]), and assume f'(p) # f'(poy) for
some pg € [a,b]. Consider an iteration scheme that is similar to, but different
from Newton’s method: given pg, define

o= f(n)
n+l — Mn = T, )
J /(po)

Assuming that the iterative scheme converges, i.e. that p, — p as n — o0,
show that this method has order of convergence o = 1.

(Note: to actually show that indeed the scheme converges, one needs to
assume f € C*([a,b]). Also, this is a sufficient, but not necessary condition.)

n > 0.
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